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Motivation

• The basic new Keynesian model for the closed economy
- equilibrium dynamics: simple three-equation representation
- ability to match much of the evidence on the effects of monetary policy and technology shocks
- monetary policy: optimality of inflation targeting

• How does the introduction of open economy elements affect that analysis and prescriptions?
•What role should the exchange rate play in the design of policy? What is the optimal degree of exchange
rate volatility?

• Issue: many possible combinations of assumptions on size, market completeness, pass-through, etc.



A Baseline New Keynesian Model of the Small Open Economy (Galí 2015, GM 2005)
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• Optimal allocation of expenditures
(i) Domestic goods:
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• Some definitions and identities
Terms of trade:

st ≡ logSt = pF,t − pH,t
CPI:

pt = (1− υ)pH,t + υpF,t
= pH,t + υst

CPI vs. Domestic inflation:

πt = πH,t + υ∆st

where πH,t ≡ pH,t − pH,t−1

• Law of one price
pF,t = et + p∗t

• Real exchange rate
qt ≡ pF,t − pt

= st + pH,t − pt
= (1− υ)st



• International risk sharing
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Firms

• Technology
Yt(i) = AtNt(i)

1−α

where at ≡ logAt = ρaat−1 + εat .

• Optimal price setting

pH,t = µ + (1− βθ)

∞∑
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• Domestic inflation dynamics
πH,t = βEt{πH,t+1} − λµ̂t

where µ̂t ≡ pH,t − ψt+k − µ and λ ≡
(1−θ)(1−βθ)

θ
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Equilibrium

• Goods market clearing

Yt(i) = CH,t(i) + Xt(i)
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Log-linearized version:

yt = (1− υ)ct + υ(2− υ)ηst + υy∗t

Euler equation (in terms of πH,t+1):
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Terms of trade (using IRS condition):

st = συ(yt − y∗t )− (1− υ)Φzt

where συ ≡ σΦ > 0 with Φ ≡ 1
1+υ($−1) > 0 and $ ≡ ση + (1− υ) (ση − 1).



Combining them all
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where
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Up to a first-order approximation:

yt = at + (1− α)nt

• Price markups and the output gap
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and
ynt = Γaat + Γzzt + Γ∗y

∗
t

snt = συ(y
n
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with Γa ≡ 1+ϕ
συ(1−α)+ϕ+α > 0, Γ∗ ≡ −υ($−1)συ(1−α)

συ(1−α)+ϕ+α and Γz ≡ − υ$Φ(1−α)
συ(1−α)+ϕ+α.
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with Ψ∗ ≡ συ (υ($ − 1) + Γ∗) and Ψz ≡ (1− υ)Φ− συΓz. Note that limυ→0 Ψ∗ = 0 and limυ→0 Ψz = 1.



Equilibrium Dynamics under a Taylor-type Rule

πH,t = βEt{πH,t+1} + κυỹt

ỹt = Et{ỹt+1} −
1

συ
(it − Et{πH,t+1} − rnt )

it = ρ + φππH,t + φyŷt + vt

where vt = ρvvt−1 + εvt and r
n
t ≡ ρ− συΓa(1− ρa)at + Ψ∗Et{∆y∗t+1} + Ψz(1− ρz)zt

Equivalently [
ỹt
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.

• Uniqueness condition
κυ(φπ − 1) + (1− β)φy > 0

• Effects of a monetary policy shock



Dynamic responses to a monetary policy shock 



Optimal Monetary Policy: A Special Case

• Assumptions:
Zt = 1 all t

σ = η = 1

• Social Planner’s Problem
maxU(Ct, Nt; 1)

subject to the consumption/output possibilities set

Ct = Y 1−υ
t (Y ∗t )υ

Optimal allocation
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Under the assumed preferences:

CtN
ϕ
t = (1− υ)(1− α)

Ct
Nt
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• Flexible price equilibrium

M =
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=
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ϕ
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(1− τ )N 1+ϕ
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Optimal subsidy:
(1− τ )(1− υ)M = 1



• Implementation
ỹt = πH,t = 0

it = rnt

Optimal interest rate rule:

it = rnt + φππH,t

• Macroeconomic implications of domestic inflation targeting
snt = συ(y

n
t − y∗t )− (1− υ)Φzt

= συΓaat + συ(Γ∗ − 1)y∗t + [συΓz − (1− υ)Φ]zt

eDITt = snt − p∗t

pDITt = υsnt
= υ(eDITt + p∗t )



Evaluation of Alternative Policies

•Welfare losses (under special case)

W =
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)
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ε
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]
• Four suboptimal rules

πt = 0

et = 0

it = 0.01 + 1.5πH,t + 0.125ŷt

it = 0.01 + 1.5πt + 0.125ŷt
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